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2.1 ethasi] etk
Definition 2.1.1 (vector space). & R A3. —A R-(%£) #éL4 Abel # (M, +) % - : Rx M — M i# 2
er-(xty)=r-x+r-y (r-— ABRL);
e (r+s)-x=r-x+s-z;
o (rs)-xz=r-(s-z);
e l-z=uz.
AR, B R OAIRET, ARG AR A KR ).
Example 2.1.2. — 3k b 75 7) a4 47 F -
e a field F itself:
o PRXAA LY HREH. (RIRGEZIN)
e C(X) or R, X CR countable.

Definition 2.1.3. & V A—&MB=H, & S, T CV. it
span S := {Z Q. Sk|Sk € S} (finite sum).
k

T Ty S KHkd, & T CspanS.
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2.2 gePEaE w2k

it Q(V) AL V Tk THREERK, BRA A, Be Q(V), H¥Y AC B ifff A C spanB.
X ITE (Q(V), ©), HAKITTIRZAAFLE, HAr C € Q(V) ARG, WahEi# 2 spanC = V. HEHEA
I (bt P76 512 1) HRKITATREAME—, (EARK T TR AN B A ME—, R SO St =3 Rl 4E 4L
dim V.

Remark 2.2.1. & Zorn 7|32 Mz 1£E Ac Q(V), AEMKT A #HR AC A, BpEM =N FIE—
BMRKMETT RARNESTR g —A. A REZINT AR, M LIRESNE R Zorn 7132
Ak Q) vas AwihatismnTEL.
2.3 TAERIEE/RIRLEBOC &

X‘_JL??‘;:EI‘ETJ V17 ‘/2 g V7 ﬁ

dim (Vi + V3) + dim (Vi N Va) = dim (V) + dim(V3).

UERH AT DA
N V4V —2 (Vi + Vo) / Vs

L 85 A S P T 15
Vi/(VinVa) =Vi/ker(qgoi) = (Vi + Vo) /Vs.

Proposition 2.3.1. #f Vi + Vo A A= (direct sum), ith Vi @ Vo, ETFHZ— (TFAE) A s:
e VinNVy =0 (dim(ViNV2) =0);
o dim(Vi + V3) = dim(V1) + dim(V5);
eV, eV, a1 +a=0=a; =a =0;
e Vi 5 Vo syEE—mATALIH A Vi+ Vo ah—2aiK.

XTI e — 2R B AR ST, UM TEIEPRIE Vi + Vo BY—HLEEEAE Vi 5 Vs
Feonld, AR e Vi@ Va =V 1y Vi B Vo BONANSTE]. AN A ANME—, I A FRA LU EAY
CIEAZHE”, BIA R? ARSI AN SR A A2 o o 2 31 5 S ) — 45 2 )3 EOA kb 23 ).

3 YL gl

Problem 3.1. &

AOvAlv'” 7An - {1727 7n}'

iﬁﬂﬂ% AOaAh e aA’rL ’%357\5’] @lé\"%‘&!'i/l\f@%, )ﬂ\l] ')&EZ—?‘/& k 7é l '1;&\4%‘ Ak N Al /&’)@l’c}’éj—‘&}i/]\t%

LR, 4
1, keAj, .
a;(k) = : a; = (a;(1), - ,a;(n)) € F.
0, k¢ A
icsjer S Lanprl|

oa; =1,V =0,1,--- ,n.
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A SRR RMER k # U BA A0 A B HEANIGER, IRA

afa; =0,k 1=0,1,---,n, k#IL

é\ C = (0407041, e 7an) S ]F;LX(”+1)7 I)_\“Jﬁ
alag - aday,
CTC: — In41,
alag ala,
X g O i, F)E. -

Problem 3.2 (Wronskian). 4~ fi, fa, ..., f, € C"1(X), X CR. & XL

fi fo e fn
we—| T e,
fl(n.q) f2(n;1) . 7(171'71)

)ﬂ\l] w ?_é 0 é‘g/ﬁ\% fl} f2; ] fn € Cnil(X) ék“rii‘éé

FERA. 30 W () RATHIE W) XV n e e, 4%
Z akfk - 07
k

SR A AL, A7
Saf) =0,1=01,,n-1,
k
Bl W(z)a =0, a=(a, ,a,)T. 4 W £0 BELE 20 € X 15 W(xo) # 0, RIS W (xo) AT
W, 208 a=0. O
Remark 3.3. #4fTRm L, BF W =011, fa, ..., fo ZPEAEX. )4
2

2z 2|z

fi 12
it

)

fi= z?, fo = x|z|, W(x) =

BRR fi fo fo BMEX.
Remark 3.4. K3 % )i 0 0 R B ML /LG —ATRFX, WHAFHRL LTS F T LA,
Problem 3.5. £ F 7 kM ATERK, PR M Q Loy Py xX.
EY. FHARER, A f € Qlz] W f(/3) =0. T2
(f,a" =3) #1,
X4 (2" = 3) 7E Q FARAT)E. O



Problem 3.6. % A € C"™", i1
C(A) = {X|XA—-AX =0}
by e i Aot A
e G C(A) WEMZSIR], % P~1AP = J K Jordan F3HETE, R4,
XA=AX <= XPJP'=PJP'X < (P 'XP)J=J(P'XP),

Bl X — P'XP 4T C(A) —» C(J) B— LR, SOAY R % & CJ). Xt X Bf7/50#% J 1Y
Jordan Hf; &R, B
X = Jp X, VE, L

it I, = M +e,N,, Hifr e, =08 1. fLAT15
/\lel + ElelNl = )‘kal —+ {—jkaXkl’ Xkl c CnexXm
W Wi A ERXRXT X WRREE. 35 =< =0, A

neny, A= A,

dim Wkl =
0, N # N
i — L _ Nk,
A = A, W X = (24)i2 =1, B4
T21 ce T2 n,
0 =z T1n;—1
3 : =&
0 Tnp,1 0 T,y
:L"I’Lk,]. e xnk,’ﬂlfl
0 0

Yep=e =10, 2,; = Tip1,j41, Vi, j. T HEHEZHEUT K E:

m(m+1)

SR ex =€ = 1, m = min(ny, ny),

ng(ng—1), e,=1,¢ =0,
dikal = k( : ) F :
(nk — l)nl, Er = 0, g = 1,

neng, Er =€ =0.

— e, X A # N, B R, BOGER] S% https://combgeo.org/wp-content /uploads/2020/04/
Guterman__CentralisersQ20.pdf O

Remark 3.7. C(A) is called the centralizer of A. For any matriz A with different eigenvalues, dim C(A) =
n, C(A) = F[A]. In general,
F[A] C C(A), F[A] =C(C(A)).

See https://math.stackexchange.com/questions/3330133/

Problem 3.8. For subspaces Vi, Vo C V', Vi 4+ V5 is always a subspace. Furthermore, Vi UV5 is a subspace
implies Vi TV, or Vo C V.
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1E8]. Otherwise let v; € V1 \ V2 and vy € Vo \ V3. Since vy +vy € V3 UV, by definition, we have v, +vy € V3

or V5, which implies vy € V; or v; € V;, contradiction. O

Corollary 3.9. The union of any 2 proper subspaces is never the whole space. Additionally, the proposition

holds for finite unions as long as the underlying field is infinite.

iL#]. Note that the the proposition may fail for infinite unions: Flz] = |, Fx[z]. For V = J;_, Vi, let
reVi\0and y € V\ Vi, then

z+ay e V\Vi C | W VaeF\ {0}
k=2

Consequently there exist distinct a; and ay € F\ {0} such that z 4+ a1y and z + asy lie in the same V}, for
k > 1. It follows that

(ar —a2)y = (z + a1y) — (x + azy) € Vi

and thus
— _ -1
r=zx+ay—ay=(x+ay) —ai(a —az) (a1 — az)y € Vj.

Since = € V7 \ 0 is arbitrary, we have Vi C |J;_, Vi and the contradiction immediately follows by induction

on n. ]

Problem 3.10. *t b % fF R,

dim(V; 4+ V3) = dim V; + dim V5 — dim(V; N Vy);

dim(Vy + Vo + V3) < dim V; + dim V5 + dim V3 — dim(V; N V3)
—dim(Vo NV3) — dim(Vz N Vy) + dim(Vy N Vo N V3).
o k>3 et REML®. (hitps://math.stackexchange.com/questions/1375583/)
el B k=2 WRY4ER A,

dim(V; 4+ Vo + V3) = dim Vi + dim(V; + V3) — dim(Vy N (Vs + V3))
=dimV; + dim V5 4+ dim V3 — dim(V> N V3) — dim(Vy N (Va + V3)),

J
+

dim(Vi N (V2 + V3)) = dim((Vi N V2) + (Vi NV3))
= dim(V; N V,) + dim(V; N V3) — dim(V; NVa N V3).

NHZH Vi Ve #1 Vi + Vo BERTHRRI RIS, 3%

V= span(ozj)‘;-:l, Vo = Span(ﬁkﬁ:r


https://math.stackexchange.com/questions/1375583/

FERDEEE WIS T A AN SRS [ R SRR
R VA Vo B H R4

Qpycce 7a57ﬁ17”' 7ﬁt

A — AR TE T I ) S AT AL

C= (A,B) = (alv"‘ 70557617'” 75t)
1

0

Hop AT A <17 FrRb AL E A B — MRORTE XK T4 AR P e PC = S, X T
2 e ViN Vo, WELE vl y W& 2 = Ax = By. IR4

() oee(s)

FIH S WGBS X T (v, —y) PIFRLE, 7208 A fERAERrE W « BRIAE Vin Vo TG Jc .
A

Vi =span((1,1,-1,2)",(2,-1,3,0)7, (0, =3,5, —4)7), Vo = ((1,2,2,1)7, (4,-3,3,1)7).

M) AT 28 e
1 2 0 1 4 -1 3 5 2 3 -1 35 2 3
1 -1 -3 2 -3 5 5 3 7 11 2
C= — — )
-1 3 5 2 3 2 2 4 -7 7
2 0 -4 1 1 6 6 5 7 -7 7

8 aq, o, B1 H— PR TC R T4 XT

-1 3 5 2 3

TR E I —4Eh (2,-1,1,0,0)7, (-1,-2,0,1,1)7.
ViNVy =span(20q — ag + a3 =0, —a; — 20 = (—5,1,—5,-2)7), dim(V; N V3) = 1.
A IBACI I T R i T
dimV; = dim V5 = 2, dim(V; NV3) = 1, dim(V;y + V) = 3.
Problem 3.11. & V A4 F, Loy =i, Vi, Vo Fo V3 ¥4 Z RABR 64T 28], i 2
dimV; =dimVo =dimVs=n—-—1=dimV — 1.
it dim(V; + V3), dim(Vi N Va) vAZ dim(Vy N Vo N V3).
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. B VI # Ve HIAER o e Vi \ Vs # 2. IBAH
ac(Vi+V)\ Vo, b CVi+ V5

A dim(Vy + Vo) > dim Vo = n — 1, #0f1 dim(Vy + V2) = n. HZEEARX B EH dim(ViNV,) =n — 2. HHRHE
Hi—A S5,
dim(Vi + Vo +V3) =n<3(n—1)—=3(n—2) +dim(V; N Vo NV;)

A dim (Vi 0 Vo N V) > n— 3. BAKBRAEH (n—3) 5 (n—2). %18V = F:
o (er,e2) N {e2,e3) N (e3,61) = O XL (n - 3);

. <€1,€2> N <€1,€1 + &2+ €3> N <€3,€1> = <€1> X‘TE (Tl - 2)
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